Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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fall under the gravity. Assume g=9.81 m/sec’ and force due to resistance is proportional to
velocity with proportxonal constant C = 10 N- sec/m “Determme the velocity and when the
object will strike the un : (12 Marks)
Use the method of,1 ratlon to find a positive root of the equation xe* = 1. Give your answer

. (08 Marks)

WW‘“ K
the series for loge(l + x) is used, how
(12 Marks)

Apply Muller’sy thod to find the sm‘ Her positive root of the equation x’-5x+1=0 in
©,1) (pcrform three 1terat10ns) i ‘ (10 Marks)

o] ute j——dx Correct‘*to three decimal places. (10 Marks)
+ X

W

OR e

—e*)dx by (1) Trapezoidal rule  (ii) Simpson’s 13 rule

) @iv) Weddljé’s rule, by taking 7 ordinates. (12 Marks)
glven below, comptite y'(0.2) and y"(0.2.
X 1 .12 14 .| 16 1.8 2 22

y [2.7183 | 3.3201 | 4.0552 | 4.9530 | 6.0496 7.3891 | 9.0250

(08 Marks)
~ Module-3
Using the partition ethod solve the system of equations:
c 2x+2y-z=-2 (10 Marks)

Solve the system equatioq

3x, —X, #2X; =125 X, +2%, +3x, =115 2%, -2X,-X, =2

By Crout’s‘'reduction technique. (10 Marks)
sy 10f2




6 a
b.
7 a
b.
8 a
b.
9 a

10 a.
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OR
Solve the system of equations
21 1 =2x] {-10
402 1|y
322 0flz| |7
1 3 2 -1||w -5
Solve the system of equation x +2y+3

(10 Marks)

ity

12x +8y+222=6, 3&1“%‘?2:%% 822=-10 by
e

Cholesky method. W e (10 Marks)
Module-4
\ : V22
Find all eigen values and etgmectors of the matrix A={2 3 +2| by Jacobi’s
N “ol2 V2
method. (10 Marks)
1 2 4
Determine elgen véliies and eigen vectors of the matrix A=|2 1 2|by Given’s method
4 2 1
(10 Marks)

(O 4 211
Using“the Householder s transfermahon reduce the m A=|1 1 o] into tridiagonal
bl 1 0.1

matrix y (10 Marks)
Loy 1 o
Find all the eigen values (;f ’the matrix , _ 2 using the Rutishﬁuser method.
ﬁmm%
e Lol (10 Marks)
= fl_\_'!g“ dule-5 o ¥
Show that {Vy, Vz, V3} isan orthonormal basis of IR3\ whe
P (10 Marks)

(10 Marks)

oy 5. 71 2
Find a least squares soLutiﬁn of the inconsistent system AX=b for 5 -|¢ 2, b=[0 |-

11 11

(10 Marks)
A transformation-T is linear, then prove that T(0) = 0. (05 Marks)
Let T:RA - R™ be a linear transformation then prove that T(x) = Ax where A is a matrix
of orderi m 1. (05 Marks)
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